[E]l—GaussElim

m,n: pivot row and col

r=argmax (h =m ... nr, abs(A[h, n])) (not implemented, use r=m)

GaussElim (M):= [A::M nr:=rows (A) nc:=cols(A) c:=[1l..nc| m:=1 n::l]
while (m <nr)A(n<nc)
r:=m
if SameQ[A , 0]
rn
n:=n-4+1
else
[tmp = A = A :— tmp
c mc mc rc rc c
for h:=m4+1,h<nr,h:=h 41
hn a —
f::—A hn'_o
mn
[k::[(n+1)..nc]Ahk':Ahk_fAmk
[m:=m+1n:=n+1]
A
SameQ (a, b):=|num2str (a)=num2str (b)
Numeric
123 1 2 3 1 2 3
A:=|456 GaussElim (A)=|0 -3 —6 maple (gausselim (A))=|0 -3 —6
789 0 0 O 0 0 O
1 2-1 -4 1 2 -1 -4 1 2 -1 -4
A==| 2 3_-1_-11 GaussElim (A)=|0 -1 1 -3 maple (gausselim (A))=[0 -1 1 -3
-20 -3 22 0 0 -1 2 0 0 -1 2
Symbolic
1 x 3 1 X 3
A:=|45 6 oussplim (a1 | 05 4% -6
aussElim =
78y ( ) 0 0 3.(_7.(5_4.}()+2.(8_7.x))+y.(5_4.x)
5-4.x
1 X 3
05—-4.x -6
11 =
maple(gausse Mn(A)) 0 0 3.(19-14-x)+y-(-5+4-x)
—544.x
123 1 2 3
A:=|x 56 ) 05-2.x 3.(2-x) -
GaussElim (A)=
78y 0 o 3. (=7-(5-2-x)4+6-(2-x%x))+y-(5-2-x)
5-2.x
1 2 3
0 -6 -21
maple (gausselim (A))= Ty
o o 3.(—2348-x)+5.y—-2.-x.y
6

Alvaro
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